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APPENIIX 19 .
1982 XEY VARIABLS CREATIONS

/7% TCTAL FAGAMILY INCOMS,WOMEN 1982 =/
/% CGNSINATIONS & RECCSOING TO 2323 BASED ON 'NO' TO LEAD-IN OCCURRED =/
/% BESFGRE THI3 CREATICN %/

HUSBAND,RES = 03
HWKS»RWAGS,R3US, RUNEU,)RSUZ, ASCCHyAVET,RCCM,RSSD,ROISsRPENP»QPENY = Na;
RPENFIRPENSIRPENU,,IPENT sRPZ ND = NAS

SAAGE,S3US ) SUNEM, SSU3,SS0Cy SVET,SCOM9553D,S0IS,SPENP,SPENM,SPENF = NA;

SPENDSySPENU,SPENI,SPEND = NA; -

FARMyRENTy INTT 4 FOJ034AFDCy»SSI,ALIZCHILD)OUTHH,O0THER, FAM.FAHIVC = NA;
IF RC53791.) = 1 THEN HUS2AND = 1

IF HMUS3AND = 1 THEN HWKS = R(5966.):

I7 RCS61T.) = 1 | R(C(6617.) =22 1 R(S5314.) = 1 | R(5749.) > O THEN RES = 1

T T ELSE vss= 0:

IF RES = 0 & R(C6238.) < 0 ~ THEN RWAGS 0:

ELSE IF R(6238.) >= 0 THEN RWAGE R(S2338.);
/*IF NO INVESTMENT IN 8SUSINZ Sa S 3USINS ss INCSME IS NA =/

I R(8225.) = 0 & (R(6240.) = -1 | R(524%0.) = Na) THEN RSUS = 0:
ELSE IF R(624Ce) > NA £ R(5240.) A= =2 £ R(6240,) ~=z -1 -
: . THEN R3US = R(6240.):

IF R(32644.) >= 0 & R(C5245.) >= 0 THEN RUNEM = R(6244.) % R(6245.):

/7% IF UNZMPLCOY4ENT IS 0 AND Su3 PAY ‘IS NISSING, IT Is ASSU*=D SU3 PaAY =%/
/% Sr0ULD BE 0 =/ .

“IF RUNZM = 0 & R(46247.) € 0 & R(8248.) < O TH‘N QSUB = 03

IF R(8257.) >= 0 & R(C3248.) >= 0 TAEN RSU3 = R(6247.) = R(AK243.):
IF R(3250.) >= 0 & R(6251.) >= 0 THEN RSSC = R(6250e) % R(5251.):

-~ IF RC5252.) >= 0 ] . - THEN RVET = R(6253.);
IF 2(€%255.) >= 0 ] " . THEN RC3M = R(6255.);
IF RC6257.) >= 0 : " "THEN RSSD = R(C6257.):
IF ©6259.) >= 0 ‘- - THEN RDIS = R(C5259.);
IF R(5252.) >= 0 THEN RPENP = RC6262.)3
IF R(5284.) >= 0 THEN RPENM = R(C6264.)

_IF R(6256.) >= 0 -© - THEN RPENF = RC62635.)3"
IF RC5263.) >= 9 THEN RPENS = R(6248.):
IF R(6270.) >= 0 THEN RPENU = R(C6270.)3
IF (6272.) >= 0 . THEN' RPENI = R(6272.):
IF RC6276.) >= 0 THEN RPEND = R(5274.)3
IF CHUS3AND A= 1 | MWKS <= 0) £ RC35276.) < 0 THEN SWAGZ = 03

ELSZ IF R(6276.) >= O THEN SWAGE = R(6275.):
IF CRC3225.) = 0 | HUS3ANG = 0 | HWKS <= 0) £ CRC62T2.> = =1 |
RC6273.) = NA)D THEN SBUS = 0; --

ELSE IF RC6273e) > NA &L RC62T3.) “= =1 & RC6278.) A= =2
THEN S3US = RC6278.):

IF HUS3aND ~= 1 & R(5232.) < 0 L R(C35283.) ¢ O THEN SUNEM = 0 ~
ELSES-IF R(6232.) >= 0 & R(3283.) >= 0 THEN SUNZM = R(C6282.) * R(6283.)3
IF (HUSBAND~=1 ] SUNZM=0) & R(6285.)<0 £ R(6236.)<0 THEN SSU3 = O}

ELSZ IF R(5235.) >= 0 & R(6265.) >= 0 THEN SSU3 = R(C6285.) & R(6286.D7
IF HUS3AND “= 1 & R(5233.) < 0 & R(6239.) C 0 THEN S$SSOC = 03

ZLSZ IF R(0283.) >= 0 £ R(3229.) >= ¢ YHEV SSCC = R(CK288.) & R(6289.)¢

IF7 HUS3aND 2= 1 2 R(8231.) € O THEN SVET = 03

EL3E IF R(S5291.) >= ¢ THSN SVET = R(C6291.)7
IF HMUS3AND 2= 1 & R(C6293.) ¢ O THEN- SCOM = 03

EL3: IF R(C8233.) 2= 0 THEN SCIM = R(6293.)3
IF HUS3aND “= 1 & R(C6235.) < O THEN SSSO = 0O

ELSE IF R(5235.) >= 0 THEN $SSO = R(6295.)%



—— > e ————

THEN

IF HWUS3AND 4= 1 £ R(6302.) < 0 SPENM = 03
ELSE IF R(53032.) >= 0 THEN SPENM = R(6302.);
IF AUS8ANDS 4= 1 L R{6304.) < O THEN SPENF = Qg
ELSE IF R(6304.) >= 0 ’ THEN SPENF = R(C6304.);
If AUS3AND “= 1 & R(6306.) < O THEN SPENS = 0
ELSS IF R(C6306.) >= 0 THEN SPENS = R(C6335.);
IF HUS3AND “= 1 & R(5308.) < 0 THEN SPENU = 03
ELSE IF R(C630E.) >= 0 R THEN SPENU = R(4308,);
IF AUSSAND “= 1 € R(6310.) < O THEN SPENI = 0;
ELSE IF R(C6310.) >= 9O : THEN SPENI = R(6310.):
IF AUSBAND ~= 1 & R(6312.) < O = THAEN SPEND = 03
EL3E IF R(6312.) >= 0 _ THEN SOENJ = R(35312.);
IF R(€314.) > NA & R(6314.) “= =1 £ R(6314,) A= =2 THEN FAPM = R(6314.):
I7 R(6318.) > NA & R(6318.) A= -1 & R(L316.) “= =2 THEN RENT = R(6318.):
IF R(6322.) >= 0 ‘ THEN INTT = R€6322.):
IF R(6324.) >= 0 & R(6325.) >= D THEN FDIDS = R(5324.) ¥ RC6325.)3
I® R(6327.) >= 0 & R(6322.) >= 0 THEN AFDC = R(6327.) * R(632B8.):
IF RC6330.) >= 0 & R(6331.) >= 0 THEN SSI = R(5330.) * R(C6331.)3
IF R(€6333.) >= 0 THEN ALY = RC6333.):
IF R(€6335.) >= 0 THEN CHILD = R($335.)%
If R(6337.) >= 0 THEN QUTHH = R(6337.);
IF R(6339:) >= 0 THEN OTHSR = R(633%.);
“"IF R(6340.) = 1 & R(45341.) <= O - . - THEN FaM = 03 .-
ELSE IF R(6340.) = 0 THEN DO3 .- _ i
IF R(C6341.) = 0 THEN FAM = 03 .
ELSE IF R(C6341.) =1 _THEN FAM = 10003 -
ELSE IF R(C6341.) = 2 THEN FAM = 1500 -
ELSE IF R(6341.) = 3 *\ THEN FAM = 25003 .
ELSE IF R(6341.) = & = THEN FAM = 35003 -
ELSE IF R(6341.) = 5 .THEN FAM = 4500
ELSE IF R(C6341.) = 6 THEN FAM = 55003
ELSE IF R(C€341.) = 7 THEN FAM = 6750;
ELSE IF R(6241.) = 8 THEN FAM = 87503
ELSE IF R(6341.) = 9 THEN .FAM = 125003 T
ELSE IF R(6341.) = 10 " T THEN FAM = 200003 -
. ELSE IF R(6341.) = 11 _ THEN FaM =-25000; .
2 ELSE IF R(6341.) = DK "=  ™~--7. THEN FAM = NA; 3
et -~ END3 T ' -
AA=0; 88=03 CC=0: DD=03 -
IF INASS “= NA € R3BUS “= NA & RUNEM “= NA & RSU3 “= N& & RSOC ~= NA ¢

RAVET A= NA & RCOM ~= NA & RSSD ~= NA & RDIS “= NA & RPENP “= NA THEN AA=]1;
€ RPENS “= NA U RPENU “= NA & RPENI 4= NA &
S5US “= NA & SUNEM 4= NA & SSUB “= NA THEN 835=13:
SCOM “aNA & 3SSD “= NA & S$SDIS “= NA ¢
€ SPENF “= NA & SPENS “= NA THEN CC=1:
SPENI “= NA & SPENQ “= NA & FARM “= N& & INTT “= NA €& FOODS ~= NA €
RENT “= NA E AFDC 2= NA L SSI “= NA & ALI ~= Ni& L CHILC A= NA €& SPENUA=NA
OUTHR “= NA & STHER “= NA & FAM A= NA THEN DD=1;
IF Aa=1 & B3=1 ¢ CC=1 & DD=1
TASN FAMINC = RWAGE + R3US + RUNEM ¢ RSUB + RSOC + RVET + RCO4 +
RSSD + RDIS + RPENP + RPENM + RPENF + RPENS +
RPENU ¢ RPENI ¢ RPSND ¢+ SWAGE ¢ S2US + SUNEM +
SSUB 4 SSOC + SVET ¢ SCOM # SSSD + SDIS + SPENP +
SPENM ¢ SPZNF + SPENS ¢ SPENU + SPENI + SPEND +
FARM + RENT + INTT < FJ0DS + AFOC + SSI + alLl «
- CHILD + OUTHH + DTHER ¢ Fau;
ELSE FAMINC = NaA: i

IF RPENM ~= NA & RPENF “= NA
RZPND “= NA & SWAGSE ~= NA &

IF 3S0C 2= NA & SVET “= NA &
SPENP ~= NA & SPENM “= NA

IF

a



-

17 RC(35517.) >=2 1 & (C€517.) <= 3 T4
IF R(3233.) = 9 & R(C3219.) € ¢ & &¢
/= AQUSE VALUZ INCLUDED IN FARM =/
EL3Z IF R(5223.) = 1 £ R(521C0.) <=R(6222.) & R(C6211.) <= RC8224,) ¢
R(3222.) “= NA & R(5224.) “= NA THEN HOUSZ = 0;
ELSZ IF R(5210.) >= 0 & R(5211.) >=0 THEN HOUSZ = R(6210.)-2(¢35211.): (T
I HJIUS:Z “= NA THEN ASS:ET = HIus:s;
ELSE C=1; .
IF (R(2213.) = 0 | RCe&321.) = 0) & R(C3214.) ¢ 0 THEN SAVE = 0;
ELSZ IF R(5214.) >= 0 THEW SAVE = R(8214.):
IF SAVZ A= NA THZM ASSET = ASSZT + SAve;
ELSZ C=C+1; * .
IF (R(5215.) = 0 1 RCE321.) = 0) € R(6215.) € @ THEN 39ND = 0:
ELSZ IS R{%216.) >= 9 THEN 5IND = R(£215.):
IF 83ND “= NA TmEN ASSET = A3SET + 29N9;
SLSE C=C+13 ‘
IF (RC€6217.) = 0 1 R(CK321.) = 0) € RC6213.) < 0 TH:EN STOCK = 03
ELSE IF R(6215.) >= 0O THEN STOCK = R(5218.);
IF STOCK “= NA THzN ASSST = ASSET + STOCK:
ELSE C=C+1:
I R(5213.) = 0 € R(5220.) < 0 THEN LOAN = 0:
ELSZ IF R(6220.) >=0 THEN LOAN = R(&220.);
IF LCAN “= NA THEN ASSST = ASSET + LDAN;
ELSE C=C+1: .
IF (R(5221.)=0 1 R(6313.) = 0) £ R(6222.) € 0 £ RC6224.) <0
. : THEN IFARM = 0 .=
LSS IF R(5222.) >=0 & R(5332.) >= 0 THEZN IFARM = R(5%222.)=-R(5332.);
IF IFARM = NA THSN ASSET = ASSST + IFARMS
ELSZ C=c+1; ;
IF (R(6225.) = 0 § R(C6239.) = 0 | R(5277.) = 0) £ R(5226.) < 0 & RC622T.) <¢
THEN I8US = 0
ELSE IF R(5226.) >= 0 E R(6227.) >= 0 THEN I3US = R(5226.)-R(6227.);
iF I2US “= NA THSN ASSET = ASSET + I3uS;
SLSS C=C+13%
IF (2€5223.) = 0 1 R(6317.) = 0) & R(5229.) < 0 € R(8230.) <
] R(6231.) < 0 THEN IREAL = 0
ZLST IF R(5229.) >=0 & R(5230.) 2= 0 & R(C6221.) >= ¢
THEN IRZAL = R(56229.)~R(5230.)~R(&231.):
IF IRTAL “= NA THZN ASSET = ASSET + IREAL:
ELSE C=C+1: . ,
IF R(4235.) = 0 & R(CS237.) < 0 THEN DE3T = 0
ELSE IF R(6237.) >= 0 THEN DE3T = R(C6237.):
IF DS3T “= NA TrzMN ASSET = ASSST - pS3T;
ELSE C=C+1;
IF C>0 & AS33T>-59359 £ ASSET < 939999 THEN ASSXCAR = NA;
IF A5SET > NA & ASSZT <=-99393 THEN ASEXCAR = =-39393: -
IF ASSET >=999999 THEN ASEXCAR = 93399%;
IF C=C &4 AS33T > =99995 & ASSET < 999393 THEN ASZXCAR = ASSEZT:
END: :
/7% H3IJALY RATZ OF PAY ,1382 MW %/
/% JJIM2INATION DCCURAED SEFORE TAIS CREATION 2/
ARP=NA:
IF R(6517.) >= 1 & R(6617.) <= 2 & CRC5335.) = 1 | R(5335.) = 2 | R(5335.) =
1 2(5335.) = 8 1 R(5335.) = 9) & CR(5350.) A= NA £ RC5350.)4=~1)
£ R(3352.) “= NA TH:EN DO:
IF R(5352.) = 1 THEN HRP = R(5350.):
L32 IF R(5352.) = 2 | RC5352.) = 7 THEN HRP = wNa: (.
LS

S IF 2€335372_.Y Ne 2 f BFEALD \ J= L € ArPaca o a_ s- @om

EN 203°
3211.) < 0 THZN HQU3SE = 0: -

0o &



"ELSS IF R(5352.) = 6 THEN HRP = RC5350.)/CR(S5353,) =% «52)3
HRP3SL0TF(HR2+.5); -
END: END: ’
WIRK ,'AUMP, WOLF=NAS
I= R(5617.)4=Na THEN CALL WIMP:
/7% INSERT B8 %/ :
/% CRZATE DUMMY TO INDICATE CHANGES IN R(5423.),R5423 %/
ADJUST = NA; 5
I &0RK “=NA THEN 90; )
ACJJST = 0
03 I = 40, 125, 431:1151'1193 16799169991337,2314,3122’338 93780,
3850,3905,4261,64697, 6370- .
IF R(1e) = I THEN ADJUST = 1:
""Do
IF R(5315.) = R(35423.) £ ‘R(5423.)*=MNA THEN ADJUST=23
DC I= 3515y 942,11474115941471, 1791021‘993191’352896266,4370,4852o
IF RC1.) = I THEN ADJUST=2:
C"Do
END:
WiMP$ PRCC: :
A = Naj; -
WNA,STOPD = NA: . .
89CsdsEsFsGoPeSsTeVyeWsZ = NA; - SRS .-
WoTIJ,LMpLDyLYyHLeSM,SDySY = N{: o ;
LSM,LSDsLSY,LENM,LED, L:Y-NA, .0 . -

e LPGLTHLCT,LVaNA; - R TR

AJRX )y dUMP y HOLF s NWyH = 0.
L,Pd = 1'
CWNWyWKNWSNAS ) - =

" /% INSIRT & 3/ ’ N

/% 22IT3 FeR :RR;Q; IN R(5422.)-R(5423. )9R5622.-R5423.*/
CANW n(5422.)
WXKNW (54623.);
I® R(3315.) = R(5423.) TH:ZN D0:
drlvW '
AKNW

DS I= 3515, 1147,1153,1671,1751,2149, 3191:3528,4264,4370 438523
IF R(1l.) TH.M HKNd = R(5623 ) - R(SBIS PH .
ENDS <
/% ATZKS SETWEEN INTERVIEWS =/ .
IF R(5230.) “= NA € R(5281.) “= NA & R(5279.) A= Na

W m
neun

THEN T = FUNCR(C5230.),R(5281.)9R(5279.)):
H =13
IF R0(4521.) %= NA & R(6602.) ~= NA &L R(C(5600.) ~= NA

THEN § = FUN(R(660{o)9Q(6602.)33(6500.))3

ELSE IF 3(4909.)%= NA L RC4910.)4= NA
THEN § = FUNCRC4909.),R€4910.3,81);

Vgt 1 .+

IF S4= NA & T A= NA THEN 203

GST0 Da:zND; -

a0 §t e
N\

L N\
%
) 1§k 0



THEN 27:
IF i(5333.) “= NA THEN OC:
SM = R(5340.)3
$D = R(53el1.);
SY = R(5339.):
: END;
ZLSE IF R(5326.) “= 0 THAEN 00;
SM = F(S5323.);:
SO = R(5323.);
SY = A(5327.)3
END;
NA THEN 2C; .
$4 = R(53264.):
SO = R(5325.);
SY = R(S323.):
END;
I7 SY A= NA £ SD = NA £ SM A= NA& £ R(5450.) = SY & R(5451.) = SH
€ R(3452.) = NA THEN 93; :
$O = 13
ST2P5C1) = 393

gNCS

m
r
w
m
(o]
n
bt
~
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w
~n
W
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(V)
>
"
H

L3

IF SY > 0 TH:EN D33
IF SY € 31 THEN P = S
EL3Z IF SM > 0 THEN P = FJN(SM,SD,SY)?: .
IFP > ET > P THEN DK = P TO T
- ACK) = 1
END:
IF Qunw A= 0 - -
THEN 933 -
IF WKNW A= NA
THEN D433
8 = 13
IF P A= NA THEN V = FLOORCCT = P = WKNW*
+ 1) 72 + P);
ELSE V = T = WKNuW:
IF P A= NA ET =P + 1 < WKNW
THEN GOTC DAEND;
03 K = V TO T WHILS(UWKNA >= 3):
IF R(54264.) > 0 THEN DD:
IF R(54264.) = 5 THIN ACKX) = 43
ELSE A(CK) = 5
ENJS
ELSE DO
WUMP,,WOLF = NAj
a(<) = 2;
END;
- 8 =8 «+ 13
END3
END:
ELSE 03
NwyWIRX = Nas
IFP>0&8TD> P THEN DO K = 9 TO T
ACK) = 33
ENOD>S
If R(56424.) > O THZEN 0O
IF R(5424,) = 5
THEN WUMP = NAZS



. END?
gND:
/% CONCURRENT JD3- CURIENTLY SMPLSYED %/
Iz R(3411.) “= NA
THEN DO
IF R(5411.) < 81 THEN J = §;

ELSE IF R(5411.) “= NA THEN D = FUN(CR(C56412.),R(5413.

RC(5411.))3
iIfF 2 > 0&T >=D THEN D0 K =D T9 T3
IF ACK) = 0 THEN aACK) = 1
- END:
END3
ENIS
Vg £ 1313 .,
/% NOT CURRENTLY EMPLIYZD %/
a1 3+ 1
SL3Z IF R(C6517.) >= 3 & R(531T.) ¢= 8
THEN 203 .
/% «aJLFyWUMP SINCS LAST WCK 2 CONSSCUTIVS WESKS =/
IF (5314.) = 1 THEN DO

LM = R(5212.);
) Lo = R(53132.);
LY = R(5311.);
END: L .
IF LM >0 E LY DO THEN C = FUNCLM,LD,LY)S

IF C = NA & R(5315.) > 0 THEN €C = T - R(5315,) + 13

Xy

C

IF R(5315.) %= NA & R(5315.) = 2(5215.) & C %= NA & C 4= T - R(5315.) + 1

THEd WL = T = C + 13
ELSE WL = (5316.)3
IF C ~= Na THEN 033

IF WL > € £ R(3313.) ~= NA L A8S(CT = C - R(5315.)) > 2

& WL 4= T = C «1 THEN WL = NA:
IF £ € S THEN C = S
=13
IF T >= C THEN 03 = C T0T;
IF WL >= 0 THEN DO

IF WL >= W THEN A(CK)

R

ELSZE A(X) =
W =W+ 1;
END;
ELSE D3
WUMP ,WGLF = NA;
&CK)Y = 23
ENDS
END:
END ¢ M

/7% JUMP,«CLE SINCZ LAST INTSRVIZW 2%/
I7 R(5314.) *= 1
THEN 00
IF RCET49.) = Na
THEN 00:
WIRK,WOLFNW = NA;
I® R(5750.) 2= 0 & R(S751.) = NA THEN WUMP=aNA:
ELSS IF R(S5751i.) > 0
THEN DO K = T TO S 38Y =-1;
) IF L <= RC(S5751.) THEN A(CX) = 4
ELSE A(CK) = 33

w

C



* IF FWd <= R(5743.)
THEN D33

ACK) = 13
FW = Fd + 13
ENT;

ELSZ D3T3
IF R(5750.) = 0 | RC5751.) > 0
THEN 0D
I7 L <= R(5751.)
¥ THEN ACK) = 43
. ELSE A(CK) = 53
- L=L o+ 13

END;
END
/7= N2ZT CURRINTLY EMPLOYZD - LAST JoB8. THIS IS NEW &/
If R(3333.)4=Na TH:EN 0O: .
k(533%0.03 .
R(5341.): .
R(3339.); -

LSH
L339
LSY
ENGS -
SLSE 1IF R(5325.)*=0 TH:IN DC3 -

Lsn R(332%.)3

LSO R(5329.)3

LSy RC3327.)3%

ENGS -
ELSE I= R(5323.)A=NA TH:=N DG

L34 R(5324.);

LS R(3325.)

L3Y R(5323.)3

€493

I® R(5335.)=NA & R(5311.)“=NA THgN DO
LEM=X(5312.)3

L3I=R(3313.);3

LIY=R(3311.);

£4J:

ELSE

I7 R(53%8.)4=NA THEN 003
R(53389.);3
205330.):
R(5383.):

"o ne

r
L)
£
"

NG < O C
"nan

LSY 2= NA £ LSD = NA & LSM 2= NA 'L R(56459.) = LSY
€ R(34%1.) = (L3 - 1) & RC3452.,) = NA THEN DO
L3C = 1:

STSPDC1) = 303
€nd;

IS LSY > 0 £ LEY > 0 THEN 2C;

IF LSY < 81 THEN LP = 33

ELSZ IS LSM > O THEN LP = FPUNCLSMsLSDO,LSY):;

IF L3Y € 81 THEN LT = NAS

EL3SE 27 LSM > 0 THIN LT = FYNCLEM,LEDH)LEY) S
IF L? > 3 & LT >= P THEN 90 K = L 7O LT
5(&) = 13



.
Y X

~a .

iF WXNW ~=NA THEN 232
2 = 13

IF LP “= NA TH3IN LV = FLDOR(CLT - LP = WKNW+1)/72+LP):
SLSE LV = LT = WKNW:

IF LP %3 NA € LT = LP + 1 ¢ WKNW THEN G0 To pasnDd:

OC X = LV TS LT WHILZCAKNY >= §);

IF R(5424.) > 0 THEN DI

I R(S4245. = 5 TH:EN aACK) = &

EL3Z A(K) = 53

END:

ZLSE d0: -

WUMP,J4CLE = NA:;
ACK) = 23
SNIs

3 = 3 +1;
£ND

£ND3

SL3S 3J0;
NWyWORK =
I= LP >
AC(X) = 33
.

IF R(S5424.) > 0 TH=SN 05

iF R(S5424e) = 5 THEN WUMP = NAS -
ELSZ WCLF = NA; - -
END? - -

ELSZ WCL=,4UMP = NA: :

=NJ S . -
SND -
END ¢ " -

Na;
£ LT >= L? THEN 20 K = LP T2 LT:

/3 CONCURAENT J23 - NOT CURIENTLY EMPLOYZD %/ —

IZ R(5411.) “= Na THEN DC:
IS R(521i.) < 81 THEN LD = S;

- m
U |
w

= R(S414.) > 1 THZSY DI

I R(5el1+4) < 31 TH:SN LCT = na:

ELSE IF R(5415,) A= NA& THEN

LCT = FUNCR(5413.)9R(35416.)9R(5616,.))

ENDS

ELSE LCT = LT

IF LT > 0 & LCT >= LD THEN 05 K = LD TJ LCT;

IF ACX) = 0 Thsn ACK) = 31¢

ZNDs

€D

ENJ:

Vgt t-2-- ¥4

/7% JCZ HMISTORY =/

¥ J035 5,7,8 WSRE DROPPED SINCE ALL CASES WERE Na =/

J=1;

J% I = 5728 TJ 5875 BY 37:
CKCJI)=X CT+20); ANHCJ)=X CI1+21): REASINCII=X (I+22):
ALTCII=K CI+23):  MONCJ)=X CX+30); CavCJ)=x CT+31):
YEAR(II=X (I+23); SWN(JI=X (I+32); SUMP(J)=X CI+33):
STARH4(J)=X (I+11): STARC(JI=X (I+12); STARY(CJ)=X (I+10);

STIPM(JI=X (Iel4): IF STZPGCJ) = NA THEN STGPR(J) = X CI+135):
ST2PY(JI=X (CI+13); WEEK(J)=1 SCK(JI)=x (I+292):
JEJel? .

SN e

S IF R(5412.) “= NA TrREN LD = FUN(?(S612.)9?(5413.):R(5411.))3



I€ STUPY(J) = =1
THEN 203
STIPM(J) = R(S5239,)3
STIPICJI) = R(5231.)3
STIPY(J) = R(S273.):

. END?
IF STARY(J) “= Na | STOPY(J) “= NA
THEN DOC:

I STARY(J) > 0 THSN DO
IF STARY(J) < 81 THSN E = 33
ELSE IF STARM(J) > O THSN E =
- i FUNISTARMCJID)»STARDCII»STARY(J)D;
ENG?
IF STOPMCJ) > 0 & STOPY(CJ) > 0 TH=N & =
FUNCSTOPM(J)»STIPDCJI)»STLPYCJI))
IF STAIMCJI) %= NA £ STIPY(J + 1) A= Na & STGPMCJ + 1) 4= Na
€ STARO(J) = WNA & STOPC(CJ + 1) = Na & SSKCJ) = D ¢
STARY(J) = STCPYC(J + 1) £ STARM(J) = STSPM(J + 1) + 1
THEN £33
E = SUNCSTARM(JD»1,STARYCJI):
ST2PLCJ + 1) = 30:

ENG;
IF £ >0 & F > E & WORK A= NA
THZN BO K = £ 12 73 y

-

IF ACK) = 0 1 ACK) = 3
THEN ACK) = 1;
END; .ot
ELSE 23;
IF STARY(J) > O -
THEN IF STARM(J) > 0
THEN € = FUNCSTARMCJ),
STARD(CJIIySTARY (I
€ = FUNC1,1,STARYCJ));
SLEE & Sq .
IF STCPY(J) > 0
THEN IF STCPM(CJ) > O

THEN F FUNCSTOPMCJI)
STOPOCJI,STOPYCUID:
ELSE F = FUN(C12,31,ST9PYCJ));
ELSE 7 = T3 .
IF F > T THEN F = T
IF €2 >0 8 F >=Z THEN 02 K = £ T2 F:
IF ACK) =0
THEN ACK) = 33
END
END:
IfF CRCJ) = 0 & ALTCJ) *= 1
THEN 033
IF WNW(CJ) = NA
THEN 003
IF REASCONCJ) > 0
. THEN 20;

IF REASONCJ) = 5
THEN WuMp = Na;
ELSE WOLF = NA;

ENOS :
- ELSE WUMP,WSLF = NA; (;



END:
END?
ELSEZ IF WNW(J) > 0 £ € >0¢ F dn £
THEN DO
1 = FLOOR(CF = E - WNWCY)
+1) /72 + E):
IF F =2 + 1 ¢ WNWCJ)
THEN GOTJ DASND:
ELSE 03 K = 2 TO F WHILE
CANW(JI) >= WEZEK(CJ)):
IF REASONCI) > 0
. . THEN DO
- IF REASON(CJ) = S
THEN D03
IF WUMP A=Nj
THEN aCK)=64;
ELSE A(K)=2;
END;
ELSE DO
IF WOLF “=NA
THEN A(K)=35;
ELSE A(Kk)=2;
END;

Pl

SRR END;
ELSE DO .
WOLF,WUMP = NA:
- ACK) = 2:
- © ENDS
J WESK(J) = WESX(J) + 13
END: :
ENnD; )
END;

K{J) = 1 1 Y2aR(J) A= NA
nEN L2323

iF MINCJ) = R(5631.) & YZ4R(J) = R(6500.) & JAY(J) = Na
TASN 2AY(J) = 13

iF YZAR(CJ) “= NaA

THEZN 003
IF YEAR(CJ) < 81 THEN G = §;
ELSE IF MONCJ) > O THEN G = FUNCMONCJ)Y,DAYCY),

YEARCJI)I:
END3S
Jil = 13 .
I# 2 %= N3 & SaANCJ) = MAd £ G = NA THEN G = E - SWNCJ):
IZ SWN(J) = SUMPCJI) & E “= NA ¢ § “= NA & SUMP(J) 2= pNA
L. SUMP(J) 4= & - G THEN SUMP(J) = € - G3
IF G > 0¢E D>

THEN D3I
IF SWNCJ) > 0 € a3SCE = 6 = SWNCJ)) > 1
& SUMP(J) %= € = G € SUMDCJ) > 0

THEIN SUMPCJ) = NA;
DC K =6 79 E -1
IF SUMPCJ) >= 0

THEN D3
I® sSuvwdCJ) >= y1
THEN 2933
IS WUMP A= Na

PUSAM ALfPN - . a



ELSE D3
IF WCL# ~= NA
THEN A(K) = s3
ELSE A(X) = 2;
END:
SND:
ELSE DO
WUMe,WILF = NA:

ACK) = 23
ENOS
Ul = ur + 1; -
c

« ENC:
END? )

m

NI
SND;
/% CCMPUTS wEIKS NOT WORKING IN P23IJD 3gFO0RE CURRENT OR LAST J03
BUT AFTZR 4ORK HISTCRY PEII32S =/
P2aM=3(5%29.):
P2R3=3(54304)
PZRY=3(¢3423.)¢
wl<=r(5433.)3
IF RC5427.) = 1 THSN 0O:
IF R(542S. ) = R(5501.) & R(5428.) = R(5427.) & R(5430.) = NA
THEN Ps = 13 . .
IF (3425, ) “az NA THEN DO e -

I7 R(5«28.) ¢ 81 THEN G = S3 .
ELSS IZ R(3423.) > 0 THEN 3 = FUNCPESRM,PSRDIPERY):
END;

ul=1: i -
IF PA= NA THEN S=9;
ELEZ IF LP 4= NA THEN £=LP; .
IF 2 %= N2 & R(3632.) “= NA £ G =NA THEN 3 = = - R(35432.):
IF R(3632.) = R(5432.) & E A= NA £ G A= NA & R(3433,) ~= NA

£ W34633.) *= -G THEN WLXK = £-3;
IF G >0¢C £ > G THEN DJ:

I7 R(5432.) > 0 & ABS(Z - G = R(C5432.)) > 1

(A

X %= 2=5 £ WLK > 0 THEN LXK = Na;
09 X = o T &-1:
IF W4LX >=0 TH:Z V oc:
IF 4LX >= Yl THEN 293
IF dUMP 2= NA THEN ACK) = 43
ELSE ACK) =
ENDS

SLF 2= NA THEN &(CK) = 5;
eLSE ACK) = 23

ELSZ 003
AJMPswCL= = NAS

4(K) = 23
SND:

Jl = Ul + 1

SMCS ENDJENDS
/sy
r1388%:y/
IF 3 >00T)>3 THEN DC X = § TO T:

ZF «(K) = 0 & ACK =1) 4= 0 & aACK 41) “ 0

Pua=uw a P



® I7 A(K) = § & 4dQOLF ~8 NA THEN WZLF = W&CLF + 1
IF S(X) = O TrASN WORKywILFywUMP = N
IF ACK) = 3 THEN WORK = Na?l
15+ H :
Vgt 74
RETURN?
DAIND: NWORKyAUMPoacCLF NW = NA:
ASTURNS
SONS PRCCIMy 3y
ICL (MyJe3J) ELGCAT DJECCS);
I= 3 = NA TH=EN J = 15 o
N o= FLOIR((S =21) % (365 /7)) + (M =1) %= (13 /3) + (0 =-1) 7/
€253 7/ 52) + H); -
IFNCS THEN N = S:
RETURN (N3
4D PFUN:
SHD WIuP:
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